
 

                                                               

    Technical Compliance Report for supply of 7 Types 

of Hardwares : 

      PROJECT: MRS1 

E Bid No-6300032032  dt: 28.02.2020 

Note: Material to be supplied as per BEML Drawings / specification’s along with material test 

reports, dimensional check sheets & as per mutually agreed delivery schedules as per NIT. 

Sl No Drawing No Description Complied 
Not 

Complied 
Remarks 

1 
52569124 BOLT, SQUARE HEAD SPECIAL - M6x18L, as 

per drawing 
      

2 RFN3860652 SS HEX NUT M6 TO IS  1364  PART 3  2002    
MATL  ISO 3506 79,Gr A2 70,STAINLESS STEEL 

   

3 RFW0920616 SPRING WASHER B6 TO IS 3063 1994, MATL 
AISI 304 IS 1367 P 1484, GR A2 70, 
STAINLESS STEEL 

   

4 RFW2620616 

 
MACHINED WASHER   FOR M6 BOLT TO IS 2016  
TAB 1  1967    MATL  AISI 304    IS 1367  
P14  Gr A2 70,  STAINLESS STEEL 

 

   

5 RFN3860868 HEX. HEAD NUT M8 TO IS  1364  PART 3  2002   
MATL   ISO  3506 79 , Gr A2 70,STAINLESS 
STEEL 

   

6 RFW0920820 SPRING  WASHER   B8 RIGHT HAND, STAINLESS 
STEEL TO  IS 3063 1994    MATL  AISI 304   
IS 1367 P 14  84, Gr A2 70 

   

7 RFW2620820 

 
MACHINED WASHER M8 TO IS 2016  TAB 1  1967 
MATL AISI304 IS 1367  P 14  Gr.A2 70, 
STAINLESS STEEL 

 

   

 

 

                                                                                                         Firms sign with Seal 


